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Give products for each of the following reactions.

Q) 12- —F RIBOHA + 8 KMnO, KR —

(3) H,C=CH-CH=CH, -+ HBr —

A b A
Rearrangements are likely to occur in which of the following reaction types?
A) Syl reactions
B) S\2 reactions
C) El reactions

D) E2 reactions
E) Both Syl and E1 reactions

= b 4

Which of the following reagents might serve as the basis for a simple chemical test

that would distinguish between pure 1-hexene and  pure hexane?
A) Bromine in carbon tetrachloride

¥ 2§ (k48D



B) Dilute aqueous potassium permanganate
C) Concentrated sulfuric acid

D) All of the above

E) Answers A) and B) only

S b )

Consider the addition of HC! to 3-methyl-1-butene.The major product of the
reaction would be:
A) 1-Chloro-2-methylbutane
B) 1-Chloro-3-methylbutane
C) 2-Chloro-2-methylbutane
D) 2-Chloro-3-methylbutane
E) 1-Chloropentane

i b e

trans-3-methylcyclopentanol is treated with CH;SO,Cl in the presence of base. The
product of this reaction is then heated with KI in methanol. What is the final

product?

A) trans-1-Todo-3-methylcyclopentane
B) cis-1-lodo-3- methylcyclopentane
C) I- methylcyclopentene

D) 2- methylcyclopentene

E) 3- methylcyclopentene

+:( 5 &)

Which of the following would you expect to be aromatic?

@D@@@

A) 1 B)II1 C)II D) IV E) V

5 )
Which is the most stable conformation of cyclohexane?
A) Chair
B) Twist
C) Boat
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D) Half chair
E) Staggered

+7:C b A
Hexane and 3-methylpentane are examples of:
A) enantiomers.
B) stereoisomers.
C) diastereomers.

D) constitutional isomers
E) None of these

+=:( 5 %)
Which one of the following can exist in optically active forms?
A) cis-1, 3-Dichlorocyclohexane
B). trans-1,3- Dichlorocyclohexane
C) cis-1, 4-Dichlorocyclohexane

D) trans-1, 4- Dichlorocyclohexane
E) cis-1,2-Dichlorocyclohexane

+m:( 5w

Enantiomers are:
~ A) molecules that have a mirror image.
B) molecules that have at least one stereogenic center.
C) non-superposable molecules.
D) non-superposable constitutional isomers.
E) non-superposable molecules that are mirror images of each other.

+A:( 5 &)
S\2 reactions of the type, Nu” + R-L. — Nu-R+ L are favored:

A) When tertiary substrates are used.

B) When primary substrates are used.

C) When the leaving group, L, is a strong base.
D) by more than one of the above. '
E) by none of the above.
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